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take_decision

take_decison(state:int) -> action:int 

state

 

 decision

 

def question4(state): 
 if … : 
  return … 
 else:  
  return …  

 

qtable = None 
 
def init(n_state, n_action): 
    global qtable 
    qtable = [ 
        [0.06, 0.04, 0.14, 0.12, 0.10], 
        [0.01, 0.06, 0.04, 0.01, 0.12] 
    ] 



qtable

 take_decision

 

EXPLORATION = 0.15 

 take_decision

random

import random 

 random.random()

 random.randint(a, b)

learn

learn(old_state:int, action:int, reward:int, new_state:int) -> None 



 old_state

 action

 reward

 new_state

 old_state

action reward print(qtable)

 

 

learn

question9

 old_state 𝑠𝑡

 action 𝑎𝑡  

 reward 𝑅𝑡

 new_state 𝑠𝑡+1

 = ←

old_state action

𝑄(𝑠𝑡 , 𝑎𝑡) 𝑡



𝑄(𝑠𝑡 , 𝑎𝑡) 𝑅𝑡

𝑄(𝑠𝑡 , 𝑎𝑡) 𝑅𝑡 𝛼

𝑄(𝑠𝑡 , 𝑎𝑡) ← (1 − 𝛼)𝑄(𝑠𝑡 , 𝑎𝑡) + 𝛼𝑅𝑡

 

learn

𝑄(𝑠𝑡 , 𝑎𝑡)

𝑅𝑡

𝑅𝑡+1 𝑅𝑡+2

𝛾

𝑄

𝑄(𝑠𝑡 , 𝑎𝑡) ≈ 𝑅𝑡 + 𝛾𝑅𝑡+1 + 𝛾2𝑅𝑡+2 + 𝛾3𝑅𝑡+3 + ⋯

𝑄(𝑠𝑡 , 𝑎𝑡)

𝑄(𝑠𝑡+1, 𝑎𝑡+1) ≈ 𝑅𝑡+1 + 𝛾𝑅𝑡+2 + 𝛾2𝑅𝑡+3 + ⋯

𝑄

𝑄(𝑠𝑡 , 𝑎𝑡) ≈ 𝑅𝑡 + 𝛾𝑄(𝑠𝑡+1, 𝑎𝑡+1)

𝑎𝑡+1 𝑡 + 1

𝑄(𝑠𝑡+1, 𝑎𝑡+1) = max
a

𝑄(𝑠𝑡+1, 𝑎)

𝑄

𝑡𝑎𝑟𝑔𝑒𝑡 =  𝑅𝑡 + 𝛾 max
a

𝑄(𝑠𝑡+1, 𝑎)

𝑄(𝑠𝑡 , 𝑎𝑡) ← (1 − 𝛼)𝑄(𝑠𝑡 , 𝑎𝑡) + 𝛼 𝑡𝑎𝑟𝑔𝑒𝑡

 



n_state n_action

 init

n_state n_action


